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var=0

while var < 10 :
print(var)
var=var +1

print (“bye”)



var=0
expression

while var < 10 :
print(var)
body

var=var + 1

print (“bye”)



= Var=0
while var < 10 ;
print(var)
var=var +1

print (“bye”)



var =0
. (0)
== Whilevar<10:
print(var)

var=var + 1

print (“bye”)



var=0

(

. 0)
= Whilelva

r < 10 ] True (good to go into the while body)

print(var)
var=var+1

print (“bye”)



var=0

(o)
while var < 10 :

., (0)
= prmt(vgr)

var=var + 1

print (“bye”)

Output:



var=0

while var < 10 :

print(\(lg)r)

(0 + 1)
= Var =var + 1

print (“bye”)

Output:



var=0

while var < 10 :
print(var)
(1) €<— (0 + 1)

= VAar =var + 1

print (“bye”)

Output:



Output:

var=0

()
while var < 10 :

print(var)
(1)

var=var + 1

print (“bye”)



Output:

var=0

— Wh | | e[\(lla) r < 10 ] True (good to go into the while body)

print(var)
var=var+1

print (“bye”)



var=0

)
while var < 10 :

. (1)
= prmt(vé\r)

var=var + 1

print (“bye”)

Output:



var=0

)
while var < 10 :

print(\(lé\)r)

(1 + 1)
= Var =var + 1

print (“bye”)

Output:



var=0

()
while var < 10 :

print(\(lé\)r)

(2) €— (1 + 1)
spVar =var + 1

print (“bye”)

Output:



Output:

var=0 1

P
while var < 10 :

print(var)
(2)

var=var + 1

print (“bye”)



Output:

0
var=0 1

2
— Wh | | e[\(,a) r < 10 ] True (good to go into the while body)

print(var)
var=var+1

print (“bye”)



var=0

)
while var < 10 :

. (2)
= prmt(vér)

var=var + 1

print (“bye”)

Output:

[EEY



var=0

)
while var < 10 :

print(\(lé)r)

(2 + 1)
= Var =var + 1

print (“bye”)

Output:

[EEY



var=0

F)
while var < 10 :

print(\(lé)r)

(3) €&=— (2 + 1)
spVar =var + 1

print (“bye”)

Output:

[EEY



Output:

var=0

[EEY

3
while var < 10 :

print(var)
(3)

var=var + 1

print (“bye”)



Output:

var=0

[EEY

while var < 10 :
print(var)
Q)

var=var + 1

print (“bye”)



var=0

9
while var < 10 :

print(\(lg)r)

(10) €— (9 + 1)
spVar =var + 1

print (“bye”)

Output:

Ooo~NOOULT S~ WN - O



Output:

var=0

] (10)
while var < 10 :

print(var)

Ooo~NOOULT S~ WN - O

(10)
var=var + 1

print (“bye”)



Output:

var=0

— Wh||e[\(llaO)r <10 -J False (skip while body)

Ooo~NOOULT S~ WN - O

= Vd

print (“bye”)



var=0

while var < 10 :
print(var)
var=var +1

== print (“bye”)

Output:

CCLOUWoo~NOTULLPEWNEO



for var in range(0, 10, 1):
print(var)

print("bye")



for var in range 10, 1):
print(var)

print("bye")

var=| 0




forvarinra nge 1):

print(var)

print("bye")

var=| 0 9




Output:

forvarinra nge(O,}[lO)[l]:

{) print(var)

print("bye")

(1)

CCLOUWoo~NOTCTULLPEWDNEO

var=1 0 1 2 3 4 5 6 7 8 9




